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1  

 1              
 2 (1) a (2) Pt  
 3 (a) Zn( ) + Cu2+(aq) (b) Zn2+(aq) + Cu( )  
 4 (1) ( ) Zn ( )  (2) ( ) Cl ( )  (3) 87654 2hhhhh  

 5 Mg( ) + 
2
1 O2( ) + H2O( ) = Mg(OH)2(aq) + 1000 kJ  

 

 5 Mg( ) = Zn2+(aq) + 2×460 kJ
2
1 O2( ) + H2O( ) = 2 OH (aq) + 2×40 kJ  

 
2  
 1  +8  +6  +7      6  
 2 0.77  
 3 (1) 4 4 4  (2)   
 4 b 
 5 5 
 
 

 
 2   
 3 SH S 4 S  
    S2 1 2  
 5 1 FeO(OH) nx FeO(H2PO4) x  
    3105.4xnx    55 104.4100.916989 xnx   
    750x 5n  
 
 
 
 

【化学（解答）】



N

C H

O

 

N

C OH

O

 

3  

 1  
 
 
 
 
 
 2 a 2 b 3 c 2 d 2  
 3  
 4 2.9×102 mg 
 5 ( )  
    ( ) D  
 6  
 
 
 
 
 7 (1) 1.0×10 5 mol/L (2) 9.00   
 

 

 4 2900.93
8.0

1
8.0

1
1
1

137
274

  

 
4  

 1    1,6     pH    
 2 C D E  
 3 2.4 
 4 C 0 g 36  
 5 2.6 
 

  
 3 A 24 1 B 10 1  
    A B 10 24 1 2.4 
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